
qm=;+= ljj/0f ljlgof]lht /sd s}kmLot

ckfË tk{m

1 Rofpv]tL tflnd tyf ljp ljt/0f 50,000.00     

2 ckfË JoflQmnfO{ lgz'Ns :jf= ljdf -@) hgf_ 50,000.00     

3 ckfËnfO{ afv|f kfng sfo{qmd 50,000.00     

lzIff tk{m

1 hgtf k|f=lj= klx/f] lgoGq0f 150,000.00    

2 u[x k|f=lj= df tf/hfnL / u]6 lgdf{0f 40,000.00    

3 lzz' k|f=lj= df lkmN8 lgdf{0f 150,000.00    

4 hg;xof]uL cf=lj=df rkmL{ dd{t 150,000.00    

5 uf}d'vL df=lj=nfO{ /+u /f]ug 150,000.00    

6
k"0f{ k|f=lj=df h:tfsf] 5fgf, l;d]G6, afn'jfsf] h8fg ;lxtsf] @ sf]7] 

ejg lgdf{0f 300,000.00    

7 uf}d'vL df=lj=df ejg lgdf{0f 400,000.00   

8 hg;xof]uL cf=lj=df $ sf]7] kSsL ejg lgdf{0f 2,400,000.00  

9 u[x k|f=lj= df @ sf]7f e'FO{ 9nfg 40,000.00    

10 hgtf k|f=lj=df ! sf]7] ejg 9nfg 25,000.00     

ljB't tk{m

1 ljB't la:tf/ 500,000.00    

jfnjflnsf tk{m

1
jfnjflnsf, ljBfnosf lzIfs / cleefjs nfO{ jfnljjfx ;DaGwL 

cled'vLs/0f sfo{qmd 50,000.00     

2
jfnlbj;df jfnljjfx ;DaGwL nf]slut sfo{qmd / jlQTj snf 

sfo{qmd 50,000.00     

3 clt ljkGg jfnjflnsfnfO{ :6]:g/L ljt/0f 50,000.00     

dlxnf tk{m

1 dlxnf z;lQs/0f tflnd 50,000.00     

uf}d'vL ufpFkflnsf 

ufFp sfo{kflnsf] sfof{no

cf=j= )&%÷&^ sf] k|:tfljt of]hgf

j8f g+= % -v'ª_

1



2 ;'O6/ a'gfO{ / j'l6s l;kd'ns tflnd 150,000.00    

3
ue{jtL dlxnfx?nfO{ :jf:Yo ;DaGwL ;r]tgfd'ns tflnd-l6sf 

6fF;_ 30,000.00     

4 lth lut k|ltof]uLtf 20,000.00     

5 gf/L lbj; 20,000.00     

6 k|To]s cfdf ;d"xnfO{ k=lg=;DaGwL cled'vLs/0f tflnd 60,000.00     

blnt, hghftL, ckfË, h]i7 gfu/Ls

1 h]i7 gfu/Ls ;Ddfg 40,000.00    

2 cGt/ hflto cGt/s[of sfo{qmd tyf lrofkfg sfo{qmd 30,000.00     

3 k|fyflds tx blnt hghftL ljBfyL{nfO{ :6]:g/L ljt/0f 50,000.00     

4 ufd]{G6 jf df]6/ kf6{;\ ;DaGwL tflnd ! hgfnfO{ 40,000.00    

5 j:tL :t/Lo blnt zzlQms/0f sfo{qmd 55,000.00     

s[lif tk{m

1 Knfl:6s 6g]n cg'bfg 150,000.00    

2 t/sf/L v]tL tfnLd tyf ljp ljt/0f 50,000.00     

3 cn}rL lj?jf ljt/0f 100,000.00    

4 9jf6f l8xL cuf/f x'Fb}} ;fnLlj;f}gf hf]8\g] s[lif ;8s 100,000.00    

kz' tk{m

1 afv|f ;f6f;f6 sfo{qmd 

s= ;d'x u7g 3,000.00      

v= :ynut tflnd 5,000.00     

u= afv|f vl/b 125,000.00    

3= kl/hLjL lgoGq0f 5,000.00     

ª= af]sf 22,000.00     

2 ;fdfhLs ;]jf kl/rfng -sj'lnotL jg ;d"x ;xof]uL_ 120,000.00    

df]6/ af6f] tk{m

1 d;/f uf}8Ls6]/L j8f ejg df]=jf= :t/pGgtL 250,000.00    

2 ;'sfvf]nf Dofnvfn  df]=jf= 100,000.00    

3 ;]Nk] vfn vnwf/f gf/Lsf]6 df]=af= 100,000.00    

4 s'dfnwf/f s'dfnjf;  df]=jf=  dd{t 165,000.00    

5 7"nfa]zL j8f ejg ;'svf]nf  df]=jf= 165,000.00    

6 sf]naf]6 /fFuf sf6] df]=jf=  dd{t 85,000.00    
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7 vnwf/f–b]p/fnL df]=af= dd{t 100,000.00    

l;+rfO{ tk{m

1 5/]vf]nf d;/f l;+rfO{ s'nf] 70,000.00     

:jf:Yo tk{m

1
;fljs v'ª * sf] ufpF3/ SnLgLs e'FO{ 9nfg, knf:6/ ug]{, 6\jfOn]6 

lgdf{0f / vf=kf= sf] Joj:yfkg 190,000.00    

2
k|To]s cfdf ;d"xsf kf]if0f ;DaGwL cled'vLs/0f tyf ln6f] kb{zgL 60,000.00     

3 jly{ª ;]G6/ Joj:yfkg 50,000.00     

j8f sfof{nosf] em\ofndf uL|n tyf /+u /f]ug ;lxt ejg lgdf{0f  3,000,000.00   
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